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Define the terms with illustrations : Square Matrix, Transpose of a Matrix, Unit [06]

Matrix:

Solve the following equations using inverse rnatrix method.

3x-y+z=2, x+3y-2z=2, 2x-y+z=2

Solve the following by Cramer’s Rule :

o OR -
Write the rules of determinants.

Prove that
1 1 1

x oy oz = (x-p)y-az-3)
yz zx Xy

13 5 4 5
4= L 2} and B = L 4} then verify (1) (AB)T = B'AT (2) (A+B)" = AT+B'

{07]

[07]

[08]
[07]

[07]

Deﬁne the terms with examples. Difference of two sets, Union and intersection of [06]

two sefs.

State De'Morgan laws and verify it for

U={1,2,3,4,56,78,9 10}, A={1,2,5,6, 8}, B={2, 4, 6, 10}

Evaluate : :
mlim Jx+3-45
xX-32 «/x+5—x/'7_ ‘
lim %' -27
. (2) 5
T xo3 x -9

_ OR
Write the rules of limit. -
If A={5, 8, 7}, B={7, 8} and C={5, 8} then verify
(1) AX(B-C) = (AXB) - (AXC).
 (2) AU(BC) = (AUB) n (AUC)

[07]

[07]

(06}
(07}

.10

TOTAL MARKS : 100 -




'_Q—2 (C) Evaluate: o - [07]

0 im  Ax+2-45

X3 =3

- lim n+3Y'

0" ()
. R DO‘ n

Q3 (A) Write the rules for differentiation. | ' [06]

Q-3 (B) Find dy/dx ' [07]

(1) y =3 logx
- (2) y = e++3, x=ti+e!

. @3 (C) TFind the maximum and minimum value of the function f(x)=x’-3x+4 107}
| - OR

Q3 (A) Find dy/dx for | [06)

X

1-¢ I3
Ny= — andx= —
@)y 1+1¢ 1+1

. @3.(B) Whatis meant.by maximum and minimum value of a function? Write necessary [07]

and sufficient condition for a function to be maximum or minimum?

Q3 (O A which point the function f(x) = i—x:“ +—%x2 —6x + 8 is maximum or minimum? [07]

Q4 (A) Obtéin the-equation of a line having slope m and passing through A(xs, y4). [06]

Q-4 - (B) fFind the equation of a line passing through the points (1,0) and (2, -1). Does the {07]
point (2, 2) lie on the fine? :

Q-4 (C) Solve the following LPP by graphical Method. L [07]
: Max Z=6x+7y
s.t.
2x +4y <48
4x + 2y <60
Xyz20
| | OR
.. Q-4 {(A) Find xif the distance between P(-3, -2) and Q(x, 1) is 3@ o [06}
. Q4 (B) " Write the meaning, uses and limitations of Linear programming. . [07]
Q-4 (C) Solve the following LPP by graphical Me_thod. [07]
. MaxZ=4x+5y
sl
3x + By <2100
6x + 5y <2100
x,yz0
. Q-5 (A) Explain the terms with formula (1) Simple Interest (2) Annuity (3) Compound  [06] -
| interest. -



Q-5 -

Q-5

Qb

Q5

B

Solve the following Assignment problem.

(07]

P Q R S
A |12 15 18
B 13 10. 9 14
c- {10 12 15 13
D 7 8 9 14

The population of a city at present is 76162 which was 65673 before 5 years. [07]

Find out rate of growth of population.

OR

Bhavya deposited Rs. 15000 at 11% rate of compound interest. What amount he [06]
will receive at the end of 5 years? How much interest will he get?

Viha has obtained a loan. This loan is to be repaid in 10 installments of Rs, [07]
1,75,000 at the end of every year. If the rate of compound interest is 12% then

find out the amount of the loan.
Solve the following Assignment problem.

[07]

| N I \%

A |8 10 - 16 9
B 4 8 5 7
c 12 12 11 9
D 7 13 9 6
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ofl Al e (3515_2@1 ABd @lvlRd 52,
A Adis, UAARIs, A A(dis

ofI3eit 2ls2Na cud Aefld] Ald 63a And).
Ix-2y+2=2, X+3y-22=2, 2x-y+2=2 '

S0l Prasiol Gual 83 ofldetl Aallsel GEA).
Ix+4y=6xy, 2x+dy=dxy

A
(o124 121S0il [oi4al) G,
EREE
11 .
xoy z{ = (x=y)y-2)z-x)
vz X Xy

4o 15 . 45
o A= i al I3 4 gl Al usizl 3,

(1) (B =B'AT  (2) (A+B) = AT+B'

of1ai UE) BElB02! AMBd cUAIRIA 521,

£-aflolotol) (Gratad) cvil el ofl Dol Hi2 USIRAN.

U={1,2,3,4,566,7,8,9 10} A={1,2, 5,6, 8}, B={2, 4, 6, 10}

oflDatiel) ra M.
im  x+3-45
(V02 Gas—Vi
lim ' -27
(Q) x—>3 x*-9

WYY
A2l o @l
% A={5, B, 7}, B=(7, s}éaa C={5, 8} &1 dl USRI

(1) AX(B-C) = (AXB) - (AXC)
(2) AU(BAC) = (AUB)  (AUC)
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us-2 (5)

- | -3 ()

ollJAstiof] (Baia 2N,
lim Ax 2—\/5

(V353 7553

@2

H—»
[Qsdaloll (o) ¢,

[07]

[06]

. ua—é(m) ;dyldxa?mq\l. : o7

- () y=3".logx
(R)y = e'+243, x=t'+¢'

a3 (8) R f(x)=x-3x+4 Hi2ofl HETH 3 o2lotciat Baid) Ao, o7
A&

uH-3 (A1) dyldx Aad) ' \ ~ [08]

_ logx

(1) y= =

-t t
(R)y=15p ¥ x= 7

us-3 (01) [Q914of) 248c1 20l oottt BHA) N2@ 87 HeuH el ooidd Faid) [07]
~ Hi2ofl %33 20l YTy 2R Rudl,

uy-3 (s) R f(x) = %f +’~;—x2m6x+8 N 52l (Big Hi2 HedH A oot [07]
42? |
Cus-y () Big Alx,, y,) digh v adl e mealagiof) g 2fisel dad, - [06]

usi-w (1) (1, 0) 2dl (2, -1) Cigaaiel il gcfl vt 2efis2e Ao ae (2,2) [07]
[Cig, A1 30l U B3 1B A usiR.

T ouser (s)  dgdell @Ad z=6x+7y ol oflAel] iRcfl0) Ag@2flal HETH Glolldl, [07]
: 2x + 4y <48 _ o
4x + 2y < 60
- %y20
igd|

‘ '-u%l—_vr (1) AP(-3,-2) Aal Q(x, 1) YRAqj ek 3410 aae A x of) [Baid Anq), [06]

Us-w (o) v iR ¥olol 248 A<l doit GUNAN ol HUTEIRA) vtandl, {071 .
usey (8) wnds el ofidol usal 63l 071
7= 4x+hy a of|lAell 1Alet 41[€rot HETH Glalld). ‘
3x + By <2100
Bx + By < 2100
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M2 ()

= s us-u.(of)

Cumeu (s)

u%{—g_(u)

us-y (of)

us-U (8)

ofl Aol uElal i 2418 cauviRd 52, , [06]
() 2AIg caitey () cifrol (3) syl carey

ol Aol s1d -yl uia B3 [07]
P Q R
A 12 15 18 8
B 13 10 9 14
c 10 12 15 13
D 7 8 9 14

s A0l 6ldall gl 05292 V. U o A02118f) el SusW3 &l Al [07]
241 21B20fl dacll agiRiol €2 AN, f

AHYY|

01c 31, 4,000 o] ASHI 19% ot USY (& CAI¥oll €2 52 B )l Wendotl [08]
2Ud dal Bed! 30 HaR1? a2 Bed Asylg i 11l d QNell,

Qe dlot el 83 ] 31. 9,004,000 ofl 40 4l €2 aoll 2id eiflal [07]

ysadiofl &, A usqli ol €2 92% A1 ) dlot Becl 3ol dlel]

& a and, |
Dot s1-uduelloll U GEdL. [07]
l il om W
A 8 10 16 9
B 4 8 5 7
c 12 12 11 9
D 7 13 9 6
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